0 Constructions in words

Use geometrical instruments to construct each of the following figures from its description.
Meake a rough skeich on a sheet of paper first.

1 Construct AABC, where g = 4 ¢cm, 2 Construct the quadrilateral PORS, where
c¢=3.5cmand £B = 90°, PO =5cm, PS=6cm, £5PQ = 100°,
£ PSR =85%and ZPOR = 60°,

3 Construct the isosceles trapezium FGHI, 4 Construct the isoscel.es triangle AXYZ,
where FG || IH, FG=8 ¢m, GH =3 cm, where XY=5cm and XZ=¥Z=4 cm,
ZIFG = £ FGH = 55°,

5 Construct AJKL, where j = 53 mm, 6 Construct the quadrilateral TUVW, where
ZL=115%and ZK =20°. TU=35mm, UV =27 mm, W¥ = 60 mm,
' ' TW =49 mm and LTV = 66°.




